MAYTAG MFR60PNCTS Parts Diagram - 05 - DOOR

Item

0NN

10
11

13
15
18
19
20
21

22
23
24
25
26
27
28
30
31
32

www.pwslaundry.com

05-May-05
504 658A

Part Number Part Description

23004236 DOOR STICKED

23003413 GASKET, DOOR

23003545 HINGE BLOCK

23002280 NUT M6

23002727 WASHER (8) LU

23004235 HINGE, DOOR

23004110 HINGE BLOOK WASHER

23004112 DOOR PIN

NLA PANEL COVER

23002130 WASHER (6)

23002424 WASHER M6

23001370 DOOR HANDLE BLOCK W/PIN

23003420 SPACER

23003979 HANDLE RAIL

23001168 DOOR HANDLE PIVOT PIN

23002937 SCREW (M6X26)

23001169 DOOR HANDLE SPRING

23002499 SPRING SPEED CLIP

23004239 HANDLE, DOOR

23004113 BOLT M4 X 12

23004237 DOOR HINGE SHIM

23004240 DOOR REIFORCEMENT

23003419 SCREW M8X25 DIN 933 LU
(323) 490-1900 © PWS Inc. the Laundry Company

Page 1



MAYTAG MFR60PNCTS Parts Diagram - 05 - DOOR

05-May-05
504 658A
Item Part Number Part Description
33 23001608 WASHER (M8) LU
34 23004238 NUT M4
35 23003811 SCREW

www.pwslaundry.com (323) 490-1900 © PWS Inc. the Laundry Company Page 2



